## Second order system response.



### **Overdamped system response**

\* System transfer function :  $H(s) = \frac{K}{(T_1s+1)(T_2s+1)}$ 



Impulse response :

$$h(t) = \mathcal{L}^{-1}[H(s)] = \frac{K}{T_2 - T_1} \left( e^{-t/T_2} - e^{-t/T_1} \right) \mathbf{1}(t)$$

\* Step response :

$$y_{step}(t) = \mathcal{L}^{-1}[H(s)/s] = K \left( 1 + \frac{T_1}{T_2 - T_1} e^{-t/T_2} - \frac{T_2}{T_2 - T_1} e^{-t/T_1} \right) 1(t)$$







![](_page_5_Figure_1.jpeg)

![](_page_6_Figure_1.jpeg)

![](_page_7_Figure_1.jpeg)

![](_page_8_Figure_1.jpeg)

![](_page_9_Figure_1.jpeg)

$$H(s) = \underbrace{\frac{\omega_n^2}{s^2 + 2\zeta\omega_n \, s + \omega_n^2}}_{\text{Polar}} = \underbrace{\frac{\sigma^2 + \omega^2}{(s + \sigma)^2 + \omega^2}}_{\text{Cartesian}}$$

\* Impulse response : 
$$h(t) = \mathcal{L}^{-1} \Big[ \frac{\sigma^2 + \omega^2}{(s+\sigma)^2 + \omega^2} \Big]$$
  
=  $\frac{\sigma^2 + \omega^2}{\omega} e^{-\sigma t} \sin(\omega t) 1(t)$ 

![](_page_10_Figure_3.jpeg)

$$H(s) = rac{\sigma^2 + \omega^2}{(s+\sigma)^2 + \omega^2}$$

![](_page_11_Figure_3.jpeg)

$$h(t) = rac{\sigma^2 + \omega^2}{\omega} e^{-\sigma t} \sin(\omega t) \ 1(t)$$

$$H(s) = rac{\sigma^2 + \omega^2}{(s+\sigma)^2 + \omega^2}$$

![](_page_12_Figure_3.jpeg)

$$H(s) = rac{\sigma^2 + \omega^2}{(s+\sigma)^2 + \omega^2}$$

![](_page_13_Figure_3.jpeg)

$$H(s) = rac{\sigma^2 + \omega^2}{(s+\sigma)^2 + \omega^2}$$

![](_page_14_Figure_3.jpeg)

$$H(s) = rac{\sigma^2 + \omega^2}{(s+\sigma)^2 + \omega^2}$$

![](_page_15_Figure_3.jpeg)

$$H(s) = rac{\sigma^2 + \omega^2}{(s+\sigma)^2 + \omega^2}$$

![](_page_16_Figure_3.jpeg)

$$H(s) = rac{\sigma^2 + \omega^2}{(s+\sigma)^2 + \omega^2}$$

![](_page_17_Figure_3.jpeg)

$$H(s) = rac{\sigma^2 + \omega^2}{(s+\sigma)^2 + \omega^2}$$

![](_page_18_Figure_3.jpeg)

Increasing  $\omega_n$  / Fixed  $\xi$ 

![](_page_19_Figure_2.jpeg)

2

Increasing  $\omega_n$  / Fixed  $\xi$ 

![](_page_20_Figure_2.jpeg)

2

Increasing  $\omega_n$  / Fixed  $\xi$ 

![](_page_21_Figure_2.jpeg)

Increasing  $\omega_n$  / Fixed  $\xi$ 

![](_page_22_Figure_2.jpeg)

![](_page_23_Figure_2.jpeg)

![](_page_24_Figure_2.jpeg)

![](_page_25_Figure_2.jpeg)

![](_page_26_Figure_2.jpeg)

![](_page_27_Figure_1.jpeg)

$$y_{step}(t) = \left(1 - rac{e^{-\zeta \omega_n t}}{\sqrt{1-\zeta^2}} \sin(\sqrt{1-\zeta^2}\omega_n t + heta)
ight) 1(t)$$

![](_page_28_Figure_1.jpeg)

![](_page_29_Figure_1.jpeg)

$$1(t) \longrightarrow \left| \frac{\omega_n^2}{s^2 + 2\xi\omega_n \, s + \omega_n^2} \right| \longrightarrow y_{step}(t)$$

![](_page_30_Figure_2.jpeg)

![](_page_31_Figure_1.jpeg)

\*  $y_{ss}$  ... Steady state value.

$$y_{ss} = \lim_{s \to 0} s Y(s) = \lim_{s \to 0} s \left(\frac{1}{s}\right) H(s) = \lim_{s \to 0} \frac{\omega_n^2}{s^2 + 2\xi\omega_n s + \omega_n^2} = \frac{\omega_n^2}{\omega_n^2} = 1$$

More generally, if the numerator is not  $\omega_n^2$ , but some K:

$$H(s) = \frac{K}{s^2 + 2\xi\omega_n s + \omega_n^2} \quad \Rightarrow \quad y_{ss} = \frac{K}{\omega_n^2}$$

\*  $T_p$  ... Peak time.

$$\dot{y}_{step} = \mathcal{L}^{-1} \left[ s Y(s) \right] = \mathcal{L}^{-1} \left[ s \frac{1}{s} H(s) \right] = \mathcal{L}^{-1} \left[ H(s) \right]$$
$$= \mathcal{L}^{-1} \left[ \frac{K}{s^2 + 2\xi\omega_n s + \omega_n^2} \right]$$
$$= \frac{K}{\omega_n \sqrt{1 - \xi^2}} e^{-\xi\omega_n t} \sin(\omega_n \sqrt{1 - \xi^2} t) 1(t)$$

Therefore, 
$$\dot{y}_{step} = 0 \quad \Leftrightarrow \quad \sin(\omega_n \sqrt{1 - \xi^2} t) = 0$$
  
 $\Leftrightarrow \quad t = \frac{n\pi}{\omega_n \sqrt{1 - \xi^2}}$ 

 $T_p$  is the time of the occurrence of the first peak (n = 1):

$$T_p=rac{\pi}{\omega_n\sqrt{1-\xi^2}}$$